N°16

def f£(n):
1f n>1 and n % 2 == 1:
ANrOPUTM BbINMCNEHMA 3HaveHnsa oyHkumu F'(m), rge 11 = HarypasnbHoe 4MCno, return n + f(n-2)
3aflaH cneaylol MMy COOTHOLWEHUAMM: elif n % 2 == 0
FK[):: ]: return n * f£(n-1)
elif n == 1:

F(n) =n+ F(n-2),ecnnmn > 1 v npu 3TOM 11 HEHETHO;
return 1

F(n) =n x F(n—1), ecnu nn yétHo.

YeMy paBHO 3HayeHue dynkuuu F(40)? print (£(20))
“16000
- — F(3)=3"F(2)=3"2*F(1)=3*2*1"F(0)=3"2*1*1=3!
peKkypcuga - 310 n!'=n*(n-1)! F22;=2*FE1; (1) (0)
KOrﬂ,a q)_l/lﬂ F 1 :1*F O delf fact.(n):
BbI3bIBAET Cama . : e gt )
cets F(n)=n"F(n-1) .

F(O)=1 print (fact (5))



